BRHBHRFOMIERERR (KIE)
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1/2

(BT = A" 9L /kg)

=1 - = o BREH X RERRE| . EHERRE
== AF3U mBE FREH (7g) | BIA134 (by9h134) 994137 (1994137
(EES Fa1ol BT ASFHT 8H(&)| A~ &H 10.8 | A%E 9.5
EES Fa1oU BB LLImh A~ HT 29H (&) ~%HE 9.7 | A~%&H 8.6
EESES Fa1oU BLUHHENE ETES | 4B(B)] ~EE 12.1 | A%E 10.7
NEES Fa1oU 8L #m, B8] 13H0K)] A i&HE 11.4 | A%E 9.9
5 [HE YAV 5Y |EBUmHEETGEI | 1HB) | A&RE 12.2 | A%E 11.0
6 [FE I A1E 8L Z A5 1MTH(B)|] A &H 12.3 | ~1&E 10.9
[EES I A1 E BB LI A EH] 12HCN)| R~ i&HE 12.6 | A%E 11.2
8 [FE v A1 E ELTERIIZHEF [ 21H(R) [ A i&HE 13.1 | ~&H 11.6
L EES v A1 E BT ASFHT 1MTH(B)|] A~ &HE 11.8 | A%E 10.5
IEES v A1 E BB LI T A HET TH(R)| A i&E 11.6 | A%E 10.3
(EES v A1 E EBLLI T A HET 12HCN)|[ R~ i&HE 10.6 | ~&HE 9.5
(REES Jv A1 E BB LLImh A~ HT 5HCN)] AigHE 12.4 | A%E 10.9
(EEES Jv A1 E BB LLImh A~ HT 12HCN)| R~ i&HE 11.3 | ~&HE 9.9
(EES Jv A1 E LUFFHERE | 1330K)] ~E@E 12.1 | ~1&E 10.8
(FEES Jv A1 E EBIUHPHITEA [ 13H0K)] A& 10.8 | ~&H 9.7
16 [Fx Jv A E B AEERARE| 2060K) | F~Eh 10.1 | A%&H 8.9
EES JvHA1E ELHHITEE] ] 1H(&)] ~&E 12.6 | ~%E 11.2
FEES Jv A1 E BUm=fEHEI=M [ 1B (B)] &L 12.1 | ~1&E 10.8
EEES v A1 E HA AL =&FH] 290 (&) ~%HE 12.1 | ~1&HE 10.6
20 [ FIYRF BT ERBIZHE | 6H0OK)| A& 9.6 | A& 8.3
IREES IIZF BB LT ASFET 1MTH(B)|] A #&HE 12.2 | *%E 10.6
YR EES ERES: BB LT AHRET 12HCN) | A~ 1&H 11.5 | A& 10.4
23 [FE IIZF BT EHBETAIE [ 11H(B)] A~MEE 9.8 | A&H 8.8
EES K<k BB LI T AT 21HOK)| A% HE 10.8 | A~&H 9.8
AEES F X BB LT ASFET 2THK) [ A& 12.6 | ~%E 11.2
26 [FF F X ELmHETAIE [ 11H(B)] ~&E 11.3 | *%E 10.0
27 |x Gtk BEA%) [FHEK EBILMERITZHE | 6HOK)| A1&EH 4.7 | ~EH 4.2
28 [IE-F0CH|[IvALE EBLLImh A~ HT 158 ()| A%&H 9.8 | A& 8.7
29 [EE-FOCHEH|TXFU3 Wh=Emh 4tH(B)] A~ &HE 15.6 11.2 7.6
30 (IR -EDOCE|[NXTUT 8L 2 E T 1"MHEA)| A& 11.9 48.8 8.6
31 [ER-FDOCFE[W XTIV T BLUHERICIA [ 12BN RNE@E 11.3 25.6 8.1
32 [IEE-FDFE|[IXF 3 BLUMmmEiINE | 2H(®)|] AMEH 11.4 14.9 9.2
33 [ -FDcFE (Y XS B LU EHATET R A 8H ()| A& 15.3 14.8 6.9
A NERERRE AP BLUF=#E r=| 5B REE 10.9 14.6 8.9
35 [ -EDOCE|[NXTUT HA™ 4H(H) 25.4 9.2 122.0 9.3
36 [E=E 7R I 4tH(B)] A &HE 9.5 | A&H 8.6
37 [RE T X (5i) BLm2EE MEEE|] 1H(®)] @ E 9.9 | A&H 8.8
38 [R=E T X (5i) 8L E R 8H(®)| A% 9.3 | A%&H 8.4
39 [R=E T X (5iE) BLUmEREIZHE | 1H(®)|] M2 9.7 | A%&H 8.5
40 [B=E T X (5i) BB LT AT 1H(®)| ~&d 12.0 | F%E 10.7
AEES T X (5i) 8L BEA0 1H(®)| ~&d 6.4 | A&H 7.6
VIREES T X (5iE) EILUTHENBTFERAAR | 4H(B)] M2 10.5 | ~&HE 9.4
43 [B=E T X (5i) BB = HET 4H(B)] A~ &HE 11.4 | F%E 10.1
MEES T X (5i) ELHHETEE] | 158 ()] ~&E 9.2 | A%&H 8.2
45 |R=E Fa1oU 8L = HET 14H(R)[ A &HE 12.1 | A~ 1&E 10.7
46 [R=E 75y o — [BRLLHRAHEHE] 28H(K)| ~%&HE 10.2 | ~&HE 9.1
47 [R= 75 I 1L = HET 21H(KR) [ A& 10.2 | ~&HE 9.0
48 [R= 75 I 1L = HET 21H(KR) [ A& 11.2 | ~&E 10.0
49 [R=E N WXEE R = [ BT 9HN)| A& 12.3 | %1 10.9
50 [E= JTIL—RU— BRI AFH] 1H(®)| ~&d 12.8 | A~ &E 11.4
51 [&E= JIL—RU— B mEETRE [ 195N | A 12.9 | ~&E 11.3
YIEES ZIL—RU—  |BIUTFEEIABR | 1ME(B)] A&EH 9.7 | A%&H 8.6
53 |R=E tE LU ERIZHE [ 298 ()] M2 10.7 | ~&HE 9.5
5, |[Zofe 7V X (GEGE) BRI ARE] 155 (&) A &E 10.1 | ~&E 9.1
55 [Zofe ER SR EERT A gE 18(&) 7.2 3.5 38.6 3.7
56 |Z0ft ER EBLLITH &< HT 25H(8) 16.2 6.5 88.9 5.0
57 [Zofe bR BT A BT ZE QH(R)| A& 12.8 | A~ &HE 11.4
58 [Zoft BER G 290 (£)| A& 8.7 11.9 4.1
59 [Zoft BER BRI 4 ra B] SR EF 4tH(B)| A~&H 10.0 30.5 4.3
60 [Z0ft BER BRI 4 ra B] SR EF TH(R)| ~i&H 10.9 | ~&E 9.8
61 [Z0fE BER BRI 4 ra B] SR EF 8H(&)| A& 8.9 10.1 4.1
62 |[ZfE BER BRI 4 ra B] SR EF 8H(&)| A& 8.3 7.5 7.0
63 [Z0ft BER BRI 4 ra B] SR EF 8H(&)| A& 9.0 5.3 A
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RER © FRR8FTR1HE () ~Fr28F7H31H (H) (B 2 A 9blk/kg)
=i — = o ®REH | 4 RERAME| . RIERAE
== A73Y mHE PREN M 7g) | B34 (b994134) 94137 (b994137)
64 [ZDfh EA BRI sAraET sy | 20H (k) 9.9 5.4 58.1 5.4
65 |Zfth EN BRLmmET e [ 22H(£)| AR 11.1 | A&E 7.5
66 | Znfth EN B LLmArETAEE | 12HCN) | AR 10.8 | A& 9.7
67 | ZDfth EN B LLmArETAEE | 12HCN) | AR 10.6 | A& 9.3
68 | Znfth EN B LLmAEETAEE | 2HCN) | AR 10.9 | & 9.7
69 |Znfth EN B =12HEET = [ 115 (8) 9.5 8.3 67.1 6.2
70 |[Zofth EN BB =FHET L0 [ 113 (8) 19.3 7.9 94.7 7.0
1| Z0ft P BRI =FBHEET IO [ 27H (k) 43.9 8.5 241.0 8.9
2 |Z0ft B+ AR 25H(B)| A& 9.3 | A&l 8.3
73 |Z0ft B+ AR LU= A FHHET 9H(E)| ABRH 9.7 | A& 8.6
74 | Z0fth REA AR LA T 29H (&) 6.4 5.5 61.7 5.9
75 |Z0ft REA AR A~ HT 4H(H) 12.8 4.6 66.7 4.8
76 | ZDfth REA AR A~ ET 26H CN) 7.4 6.4 57.5 5.1
7| Z0ft REA BBLLITh AR HT 28 25H(B)| &R 7.6 51.0 5.6
78 | ZDfth REA BBLLITh AR H] 28 25H(B)| A& 7.6 12.0 6.5
79 |Zo0ft REA BLmmEEIfEE [ 15H(&)| AR 8.6 15.7 4.1
80 [Zofh REA Bl fEE [ 19HCN)| AR 14.2 17.6 6.5
81 |Zofth REA LA EE | 25H(8) 13.2 7.2 81.7 5.0
82 |Zofth REA AR E = SHCN)| AR 10.2 24.3 4.9
83 |Zofth FEA AR R E] =1 5H(N) 11.1 6.1 35.3 6.7
84 |Zofth ERN LM =FEHET=R | 66H0K)| fRE 13.5 28.1 5.9
85 [Zmfih ER BB =F2HET L0 [ 158 (£) 26.1 6.5 140.0 7.4
86 [Zmfih Ivh (DXA) [EILMENEFAR | NMEB)| AREH 8.3 MR 7.5
87 [H2THFEEXK K (BHX) AR LI AT 2H(E)| AMEE 10.2 MR 9.3
88 [H27THFEEXK X (BX) EHEE 2THOK) | AR 8.3 MR 7.4
89 [H27THFEEX K (BX) RE 26H(N)| ARH 8.6 MR 7.8

X RHRFEREE “TRE” ERRo

SEFEEM @ BT



